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(3)

T - 1/PART -1

919 f#rg @ RIS/ CHILD DEVELOPMENT AND PEDAGOGY
R - Freifrye gt & gt 33 2 fre qae afaa Rect T/

Direction : Answer the following questions by selecting the most appropriate option.

1 sl g @ s A R & LQ.
84 A HfFTH 145 TF 8| T8
Frer & @ Reg o1 3 F1eT @ TR

X g 7
(1) 9=l (2) Ay
(3) faf¥y=ar (4) WER

2. FYT “GurE MerF @GR’ & ad &

) gt I # Rer w@ FA OH
A HIET

(2) TAF I B R gER # ST
farem @ gEET

@) TF T F AkE AR A
T

(4) 99% I@F F HIAR R g3
F frem  o@ET F GAHA

3. Pewd zr Sfoia Sfswdr @@ @
dfeq § Ay dwal @ afwfad R @

g7
(1) 100
2 150

(3) 180

(4) 120"

Level-3/261

Scanned by CamScanner

1.

The 1.Q.'s of the pupils in Mrs. Gupta's
class go from a low of 84 to a high of

145. This is an example of which trait ?

(1) Uniformity (2) Validity
(3) Variability (4) Range

The phrase "equal educational

opportunity" means equal

(1) Opportunities for all children to
have access to education

(2) Equality of type of education
available for each child

(3) Equality of educational standards
for each child

(4) Equal opportunities to have the
type of education for which one is

suited

How many factors are included in
Guilford's model of structure of

intellect ?
(1) 100
(2) 150
(3) 180

(4) 120
P. T. 0.



e TUFA T ¥
(1) fes frm |,

(2) 39 frm A

(3) Iriefe affm @
(4) FARNHAD T Y

.3 ¥ R R ek s AR a™
fapre @ Fed &

(1) ageHER fepr

@) Y& R
(3) we-gufgE
(4) fariordig
. R 3 I Rera #
AT B .. T aifed 2 |
1) 5 @ 6
3) 8 ) 7

Frafofed & & $9-@ grnem aif=H
TR ?

(1) Rar-a=
(2) wead

(3) gferm=
(4) TERIBIT -

Level-3/261

(4)

. Albert Ban

dura is associated with

(1) Verbal learning
(2) Sign learning
(3) Insight learning

(4) Observational learning

. The development that proceeds from

the centre to the periphery is termed as

(1) Spiral development
(2) Linear development
(3) Proximo-distal
(4) Cephalo-Caudal

Gagne's theory of Hierarchical learning

includes ............ types of learning.
(1) 5 2 6
(3) 8 4) 7

Which of the following is not a
defense mechanism ?

(1) Day-dreaming
(2) Association
(3) Regression

(4) Sublimation

Major shift in education is from
teacher centric to

(1) Management centric
(2) Learner centric
(3) School centric

(4) Parent centric



9

10.

11.

. el 3 o A 3@ o ¥ T o
fear st 7% e e 3 SEd TR W
ot f, Ff% g5 I Fa B 7 qd 3

R ‘omae’ B 1 7 Sareter W &

(1) 9 @ & oRRE & @
o a9 it A |

(2) WRER® THT gy

(3) ®WS ¥ HWYU i |

(4) ©F Gicghas onfédae |

I g SR ERT SR Fger
games iR ufaE & & ofm By
78 fFae Fua R ?

(1) Ffafae

2) # T @ -
(3) g8 w@ =
(4) HIH

e & Ses Jem & fe @
AR, HUFHT (Ffasitee) / e
(4

(1) qEad foeme dife® avEel qu
FrEAETeTg G0 & A |

@ REw 3 T8 T@H & GEEEE FE
T e A el § gur
F g FIER AN«

@ @ FH oaw TE FH & d
qrTgET B |

(4) JUETTE 9 GEEE gEnel #
arefF Yot # eHafyq F |
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(5)

10.

11.

9. Mil refused to wear the expensive dress,
her aunt sent her for her birthday
because some one said dress was "out"
for party. This is an example of

(1) The power of a primary group to
dictate to its members.

(2) Disintegration of family unity.

(3) Conflicts resolution within a society.

(4) A cultural artifact.

the modification of

through experience and
training.' Who said this ?

(1) Colvin

(2) Crow and Crow
(3) Gates and others
(4) Cronback

'Learning is
behaviour

According to Piaget's cognitive
development theory, accommodation

is referred to

(1) A kind of matching between the

already existing cognitive
structures and the environment

needs as they arise.

(2) Adjust to new ways of thinking
by

one's existing

and  behaving making
modification in

cognitive structure.

3

Equilibrium between previous
knowledge and new knowledge.

(4) Arrangement of perceptual and
cognitive information in

meaningful patterns.

P.T. 0,



- (6)

ford-Binet Test of Intelligence is

12. R AT H RAHE-RA witerr & 12. Stand
a
(1) arfed gEeT (1) Group test
(2) & T (9) Verbal test
(3) P wdE (3) Performance test
(4) e T (4) Non-verbal test
13. s fEEeE WX 3§ 13. The difference between the actual

development level & potential

RrepraeTs X § ofaT ad .
T o @ onf development level, the difference
o T A G A q between what the child can do now &
Fd B 3 G F ofR F AT A what the child can do with adu-lt
guidance are more capable peers 1S

o § known as the zone of

(1) Optimal development

(1) g (Fam) e -

(2) HsHIEH (2) Cognitive development

(3) Proximal development

(3) ey fe
4) TB forerd (4) Trivial development
14, S F1 I==d WX Al 2? 14. Which one is the highest order of
learning ?
(1) SEan A (1) Chain learning
(2) 99 gHHEH Ffem (2) Problem solving learning
(3) ag\ﬁqqaﬁﬁ;m aferry - (3) Stimulus - response learning
(4) foge st (4) Sign learning
15. Rrax e, “Reaen @ ud a9 16. Who said, "adolescence is a period of
e &7 7 storm and stress” ?
(1) %Es (1) Freud
(2) ©T B (2) Stanley Hall
3) fa= - (3) Piaget
(4) B (4) Hurlock

Level-3/261



16.

17.

18.

19.

T A R GO Y F INET AT
Tfey ?

(1) ReER

@) g

@) =R .

(4) T-faas

wF faarft dto wgo wAw qiar W
IR R & B T8 qEY e ¥ Y

FAGE I A A wed@ g, w@
FEET B

(1) IERIH
(2) wE&er

Level-3/261

(7)

16.

17.

18.

19.

Interaction inside
should generate

the classroom

(1) Controversy
(2) Information
(3) Ideas

(4) Argument

A student trying admission for B. Ed.
but failed in entrance exam. He used
to say that "he don't want to be a
teacher". It is an example of

(1) Sublimation

(2) Projection

(3) Rationalization

(4) Identification

A teacher told her students to have a
poem ready to share it in break

sometimes during the day. Which
component does it show of creativity ?

(1) Flexibility
(2) Fluency
(3) Originality

(4) Elaboration

The achievement of learning is
(1) Knowledge

(2) Attitude

(8) Skill

(4) All of the above

P.T.O.



00. frgwd ¥ qiew & MR |, Mo @A

21.

22.

R T T B S b @
g gfe # ¥ AR Mo @ 9 T
# g B U A6 §, A FEQ DT
i I fow @ & ?

1) o e A g SR @ de
@ R wE 3 fe o@ @ A
TR HE

(2) B FE ROIEE D T
SR HT |

@) 5@% T A Frbeer FEm fF o
¥ Tead R 2

@) e B R Tyl | 3T
ohee & o e $T, T8 3@
% o f T I6F < 9o ¢ |

Freat 3 Aw BEw 3 Rem @ W
qoqrE & fre 8 & B 3 el
yefita 7ef e & 7

(1) eTEd e
(2) U qU S STEE

(3) qifte ARt SAFgEHTT-
(4) SRR T STTEHTT
Pt & @ fra a1 76T @

1) ﬁwﬁiawﬁaﬁa@ﬁamaﬁ
sfea ufskan

2 2 27 % Gftd 8

(3)%%%#@,%&%
geaat # gEdl

(4) fafr=an
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(8)

20.

21.

22.

as told at school that his
d only an average
to the school

Mr. Khan W
Aamir ha

according
Khan wants t0 improve his
ence, probably the best

son,

intelligence,

test. 1f Mr.

con's intellig

thing he can do

(1) Prepare his son for taking t,h‘e test
by drilling him in the same kind of
excercises as found on the tests.

Provide  him with ~ many

gtimulating cultural experiences.

(2)

Check every night to see that
Aamir does his homework.

(3)

Insists that Aamir should be
tested on different tests to see if
he gets a higher score.

(4)

Pre conventional level of Kohlberg's
moral development theory is not
characterised by one of the following
(1) Egocentric judgement
(2) Punishment &
Orientation

Obedience

(3) Instrument Relativist Orientation

(4) Authority Maintaining Orientation

Among the following which 1s not
developmental task ?

(1) A complex process of organising
structures & functions

(2)
3)

Being limited to growing larger

Progressive series of changes

towards the goal of maturity

(4)

Differentiation



23. 1Q.3 @ M. A el war &

24,

25.

26.

27.

(1) " e
(2) aRyear ST
(3) wWHRF 3y
(4) R oy

Hwigite T gftomy 2
(1) gde &

(2) SEIT-ITRRT 1

(3) THITHII-TefHT F7 .
(4) T9H F

e # & ae foera oRoia B
™

(1) 93RS a1 (2) 9 9 &N
(3) W & (1) RA am

Rerfl ¥R Prear gl #@ ¥
ara: Rres #i
(1) FER SFTFAET G T AT =fe |

2 Jfrm & Ry sgwdl # I
U =

(3) gdenawt #t Hewn e =Ry |
(4) e @ g9 Afa W oad A
qfeq |

s ©d aIftrm @ a9 g @

(1) 3 8@ 3fa B
2 A & favg-arg = 1

(3) AFl gy G qrgAfaREe 9§
3 g

(4) I9gF ¥ § 3 T
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(9)

23.

24.

25.

26.

217.

M. A. in the formula of 1.Q. represents
(1) Mental Ability

(2) Maturity Ability

(3) Mental Age

(4) Maturity Age

Insight learning results from
(1) Reinforcement

(2) Stimulus-response

(3) Gestalt perception

(4) Practice

Two factor theory of intelligence was

propounded by
(1) Thorndike
(3) Spearman (4) Binet

(2) Thurstone

Learners show individual differences,

so a teacher should

(1)
(2

enforce strict discipline.

provide a variety of learning

experiences.

(8) increase number of tests.
(4)

insist uniform pace of learning.

Similarity between guidance and

learning is
(1)
(2
3

Both are child centred
Both are subject centred

Both stress on feedback and
content analysis

None of the above

(4)
P.T.O.



° (10)

hology laboratory was

28. YN HAIQSE SEFISI i @ oot 28. The first psyc
established by
(1) Few 3 @ 3= - (1) Cattell (2) Wundt
(3) T A (4) dreqd | (3) Galton (4) Watson
29. FE-FY [T B =ANfew 29. Classroom teaching should be
(1) = (2) o< fraeTs - (1) Intense (2) Interactive
(3) (4) TH-aTH (3) Easy (4) One-sided
30. fr=fofed & & F-a IH g e ! 30. Which one of the following pair is
correct?
(1) Yo - e ST . (lj Pavlov — Classical conditioning
(2) et - A 3 fgy (2) Kohler — Laws of learning
3) R - e siftem (3) Skinner — Insight learning
(4) AT - mﬁﬁﬁ I (4) Thorndike — Operant conditioning

Level-3/261
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AT - IVPART - II
#197 -1 (fR=Y)/LANGUAGE - 1 (HINDI)
391 - =it gt & g 39 @ o gag T g g

31.

32,

33.

34.

35.

TEH = T B T W g ¥ 7
(1) % (2) &5

(3) MH (4) 3%

FH q PH-A1 9= Sy L ?

(1) FEERX

@) R

(3) STE -

(4) 3TF

‘7T AT AR G REm @ o @

() T 99 HY FA § TE e
(2) R siel g | R

(3) THEE % fQ Qe 7@ @ afke
(4) THEE & IH | FY FE FE

GG’ = F IuGH A e B
(1) = At

(2) =g g A

(3) g==E @ AP O T A
(4) OTEST & S 99 .

T § P91 I SAcared go q A
g IgaTaS Hl & 7

(1) TEHI (2) 79I

(3) gl (4) ferarae

Level-8/261

36.

37.

38.

39.

40,

‘Teeg’ ¥ P-4 wfy ® 7

(1) & 2 T

(3) T 4) T
‘PR I G =t
() M+ & (2 0+ AR

(3) M + AN (4) FY + R

frefafad & @ P9-a1 9= 9=-F19 &
geq 915 & e ?
(1) ¥4 2) =fe®

3) &4 4) ga

FETHEI @ P S A -G Sy
T 8 7

(1) T A9 FRACHE el & |

(2 T 99 FH g H OGEAH d
i fram o B

3) 3 FW it X IvF F AW
AR 9% M forar @ ® |

(4) 3% HEH TN FEE, I g
Rem &1 M R WF &1 Iw@
B &1

frfifegg s=& 4 ¥ F9-91 9=
IE-HIg § GBS ST ?
(2) T
(4) wE

(1) zew

(3 T
P.T.O.



B

e : = T5qier # 98%T [T 10 g97)
(757 = 41 & 45 TF) 3 FEH T e

7 g7 -

U a1 & oged U fasm & forg smr of
TF Y@ I e8| WG 6gEd O gaEeeh,
wEe T e @ Ptk 3 s @
AIYE SUREET: AT 2 | 38% Affed 369
a B 99 e T8 21 Radaim
AFEIYfT B T A A @ FER A 9 B
g’ I @ WA B oar, wWozEd I
A IE-EY A B HEd Hl AGAT Al AT

ggd Il W H qed A Feht A Hl
T gfaafea @ ot gt @ g @ R
T I TEfed & [0 oT@mEd® & | B g6r
et @ W B g 1 Arifas i qen
9% 9da, @R, afael ok @ S 9|
T % Frafdl @ e Fee-gad § oEds
s & @adt &, 3d v s b &
ff 379 TERE = § fEtgar @ w
et | oy e g § g @ EER F
Qe @ oy @ A g o ged @
ate aIfyd 7 et | gd g ARk T B @
FqF T F B & ol al e gl
& ey qgd € aF w8 whd 2|

oTfiT &1 Gs & o @Al & X IqH U Th
Rifsaq afade e &1 W el & Ao
¥ T afme B AER W L, TEH O
qtes Fafte @&Y & 3 @ s &9
wE w2 g 3 fafy wgEE B, o
ffay g ¥, Remuwd ¥ @9 0 o
¥ 32 am @ ofedd # § e e e
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e, o, ﬁﬂmaﬂﬁﬁwm
o s, Eweel, Eurme o
ﬁfﬂwﬁﬂﬁaﬁﬁaﬁf%r“wm.%am
ﬁmelmmmaﬁﬂawﬂ%?
;S R F S
Rrd e a1 o e o 8 T A
A %1 o g8 wae ¥ AR A R I

aﬁ%ﬁﬁwﬁ@mmﬂgmﬂm
3 Frpe o @ &, I GO ST

e @ aadt 21 7@ a8 B T W
A o g | qeE g
@ ¥, o R A e ¥ o TS
a3 R @ fe W aw I A
2

41, T WA @ fww $ fe A
LTS &, Hii®

(1) J& FFE-g9eE A RER et
P AT B

(2 & J=-8q g AN I@H died
ot g9

(3) & T H R HSRX &

4) 98 FFE-EEEE § cEgHfn e
frem-0Fg & |99 ?

42. T Y 9 A FER B 0w 2
e & gy
(1) o1d AYT Bt &
(2) e & o saga &
(3) sifweerig &l 2 .

(4) 99 99 q O B 2



43.

44.

45.

46.

47.

Wﬁm%mmma%
(1) SE=TTYR B et

(2) TN @& WEaln F dfd
(3) Y RS # Yo &
(4) TFEE AR B Rare ®g

fore d@wa ¥ oy

(1) TR & sal fwm R
iy

(2) IAEE B TEAl F qEE A
fepar s

(3) ArgHIST # faefye Rear oo -
(4) TF g9 99T ReEfyd @

‘AT e AT { o9 2
(1) oA e

(2) TS AT

(3) {IA-HaTEHE T

(4) i ot s

R aof @i & ‘ot @ @R
g7

(1) &, of @ %3
3) 3, & (4) 31', H:
‘Y’ 9= F g AL B

(1) gEA F & HT I

(2) 99 W 9F AT FA e -

@) B w § o R @ A
T S

(4) Tt af @@ 81 T Ay FE A
T F arl
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(13)

48.

49.

50.

51.

52.

W T oES ERY free R
(1) T+ 9

(2) T + 391

(3) TH + 30

(4) TH + 39

‘T B ¥ TEH e 6N dud
A

(1) I g&9 -

(2) 999 759

(3) "H oW

(4) ¥ | B T

‘g = F Amds TR $ R

fre Suet @1 @ e ?
L @ @ &g
3) A, 4) 3
e H A IO
(1) =

(2) FrguEn
(3) Iver*

4) fwEr
‘THIE-AEE =g B gd o @
& ?

(1) Wed - ST
(2) 3@X F T AT - gE=aT .

(3) FW - Hed

- (4) foddear - R

P.T.0;
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53. P & & B9 qeEw 78R ? 57, serafuq aEist A A @ W
(1) ST #1 &9 TR T
(a) GIEIHN
(2) I (3) 7 @ Fifed & @
(3) FAT g (¥) mmﬁlzﬁﬁgqmﬁﬁqmﬂﬁr
RRT TAM-GER®, 98
(4) WD B : (@ o7 _
. = @) o g Mg
54. T A IR 0= R () o A ®
(1)5137 (I)IIHTET‘
_ @ aaav
(2 e @3 3aAT
(3) & @ 3TAT
(4) WHE 58. Prefefgd & @ 9 & IS & I T
Fforx
55. Prfeflad & & frg ar § s e (1) 38 orgert 8 & HeF B
v 2) IV I AN AF B
(1) 7 fo @ & - (3) T orget R N omar B
2 ¥ 9 3 FE § (4) IQ orgeliel B A el B
(3) 7 MO A Ew @ 59. Yadrrer Rees qataar ¥ ?
(4) T o fore & , (1) e @ FoT.
(3) o=t (4) ITH
56. ‘A 9@ Rggs mar @R PR
a2 ? 60. Fr1 4 A FE fow 3 @l o=
FfTaES T P 2T § ?
(1) R (1) g, TE, e -
@ 8 (2) e, e, S
(3 3) T, e, T
(4) 4R-8 Raws ™ (4) 99T, ¥, TAIH
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(15)

HIT - III/PART - 111
ST - 11 (3 3it)/LANGUAGE - II (ENGLISH)

Answer the following questions by selecting the most appropriate option.

61.

62.

63.

Which s

the correct indirect
narration of the sentence ?

“Forward, my men,” the General

cried, “and face the foe bravely.”

(1) The General said to his soldiers
to go forward to face the foe
bravely.

(2) The General urged his men to
march forward and face the foe
bravely.

(3) The General cried at his men and
asked them to fight the foe
bravely.

(4) The General told his men to go
forward and face the foe bravely. *

Choose the word which is the opposite

of ‘ruthless’

(1) Uncharitable .

(2) Compassionate

(3) Relentless

(4) Hard

She shouted so loudly that every one

turned around to see.

The word ‘so’ in the above sentence is
a/an

(1) Adverb -
(2) Adjective
(3) Preposition
(4) Verb

Level-3/261

65.

66.

67.

64. Which of the following sentences is

correct ?

(1) Which is the taller, you or he ?

(2) He is a man whom I know is

trustworthy.
(3) . He has been ill since two months. ,

(4) Iremind you lest you forget.

Which of the following does not
facilitate second language learning ?

(1) Use of audio-visual aids
(2) Story telling
(8) Dramatisation
(4) Emphasis '

on theoretical

grammar

Direction : (. Nos. 66 & 67) : Which part of
the given sentences has an error ?

They are poor.
(1)
the air fair.

(4)

They can't afford
(2) (3)

People can see fine scencries

(1) 2
while travelling to Poona.
(3) 4)

P.T.0,
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been toned

68. Which of the following is the correct 70. The spicy menus have
passive construction of the sentence ? down to suit the tourist's sense of
taste

I’m sure my uncle invented this
(1) Palette .

machine

(2) Palate
. hine is i

(1) This machine is invented by my (3) Palaver

uncle, I am sure,

(4) Pallor

(2) My uncle has invented this o
Direction : (Q. Nos. 71 to 76) : Fill in the

machine.
blanks in the following sentences by the most
(3) I'm sure this machine has been suitable option.
invented by my uncle.
71. We all agreed ........... it was a difficult
(4) 'm sure this machine was exam.
invented by my uncle. , (1) That -
(2) Since
Direction : (Q. Nos. 69 & 70) : Replace the
group of words in italics by the most suitable (3) For
option. (4) With
69. You should not look down upon the 72. It's a good idea — once in a while — to
poor and the needy go out with friends, stay out till five
in the morning and really let ........... .
(1) Scorn
(1) The cat out of the bag
2) Shun -
@ (2) Off the hook
(3) Shirk (3) Your hair down
(4) Scare (4) Off steam.
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73.

4.

75.

76.

Please be quiet. You

noise I can't concentrate.
(1) Made

(2) Make

(3) Are making

(4) Have been making

This is the second time I .......... there.
(1) Be

(2) Was _

(3) Am

(4) 've been

All the old cutlery has been replaced
By s :

(1) New
(2) New one
(3) New ones -

(4) New one's

(1) In, at -
(2) At, at
(3) At, on

(4) On, at

Level-3/261

7.

78.

79.

Which of the following statements is

not true ?

(1) All living languages change
constantly.

(2) Languages vary across time,

space, social class, gender, sex,

education, ete.

(3) Regional varieties within a
language are called dialects.
(4) American English, British

English and Indian English are
the regional dialects of English. -

Identify the figure of speech in the

following sentence :

Idleness is the nursery of sinful

thoughts.

(1) Metaphor -
(2) Simile

(38) Personification

(4) Antithesis

Identify the incorrect sentence
(1) Either you or I am wrong.
(2) Neither he nor you are right.

(3) I, with all my friends, am grateful

to you.

(4) Neither of us like mangoes. .

P.T.O.



80. Which of the following words is mis-
spelt ?

(1) Medicine
(2) Mediocre
(3) Medievel

(4) Meditate

81. Identify the structure of the sentence

given below :

The children kept quiet
(1) SV

(2) SVO

(3) SVC «

(4) SVOO

82. How that was accomplished is still a

mystery.

The subordinate clause in the above

sentence is a/an

(1) Adjective clause

(2) Adverb clause of manner -
(3) Adverb clause of result
(4) Noun clause

Level-3/261
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cheered the

The

audience

83. The

participating artists. word

‘participating’ in the above sentence

isa

(1) Gerund

(2) Present participle
(3) Perfect participle -

(4) Infinitive
84. Choose the correct one word for ‘one
who can be easily duped’

(1) Gullible (2) Cynical

(3) Suspicious (4) Incredulous

85. I may come with you if I get this
finished. The auxiliary ‘may’ in the
above sentence is used to express

(1) Permission

(2) Offer

(3) Wish

(4) Possibility

Direction : (Q. Nos. 86 to 90) : Read the

following passage and answer the questions

giuen below :

When young, we're naturally -creative

because we let our minds run free. But as

we're taught to follow the

rules, our



thinking narrows. For much of life this can
be a blessing : it wouldn't do to create a new
way home from work if it meant driving

down the wrong side of the road.

But in many areas of our lives, creativity can
be a matter of survival. Things are changing
too fast to get along simply with old ideas.
Half of what any technical engineer had
learnt ten years ago became obsolete in only
three years; it happens even sooner now. And
what about our home lives ? With, for
Instance, more and more women opting for
careers and independence, couples have to be
more creative about their relationships to

avoid conflicts.

Fortunately, creativity isn't all that
mysterious. One important creative trait was
well-defined by  Nobel Prize-winning
physician Albert Szent-Gyorgyi when he said
“Discovery consists of seeing what everybody
has seen and thinking what nobody has
thought.”

“Mental Locks” : How do we start “thinking
what nobody has thought” ? Usually it takes
a whack on the head, like Sir Isaac Newton
supposedly had when an apple striking his
skull awakened him to the laws of gravity.
Whacks can range from something as major
as losing a job to something as trivial as

wanting an unusual dish for a dinner party.

Level-3/261

(19) B
We're more likely to respond creatively —

which is to say, think of a new idea — if we've
already been chipping away at the “mental

locks” that close our minds.

86. By creativity the writer means
(1) Producing new works of art.

(2) Manufacturing successful
products.

(3) Thinking in a fresh way to solve
any problem or achieve anything. .

(4) Meeting domestic problems.
87. “For much of life this can be a
blessing.” What is ‘this’ ?
(1) A matter of survival
(2) Following rules
(3) Creativity .

(4) Driving down the wrong side of
the road

88. What does the writer mean by

‘whack’?

(1) Anything which leads you on to

create something.
(2) Losing your job.

(3) Wanting an unusual dish for a

dinner party.

(4) Narrow thinking.
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89. What is not said by the writer in the

passage ?

(1) When young, we're naturally
creative.

(2) As we grow, we're taught to
follow the rules. .

(3) Creativity can be a matter of

survival.

(4) Creativity is mysterious.

(20)

90. In this passage, the writer is trying to

motivate us to

(1) Follow the rules

(2) Unlock our own cre ativity
(3) Stick to our learning

(4) See what everybody has seen




91.

92.

93.

(21)

97T - IV/PART - IV
fE=/HINDI

ﬁﬁr:ﬁwﬁf@amaﬁ?aﬁ?ﬁ%mmaﬁaﬁwﬁm

g o= § faept wfy 78 2 2
(1) STy

(2) ThTE

(3) M

(4) TR

‘BN B FH-TRERA qET W
areia e 8

(1) 939 & TF 1@

(2) AT

(3) rETEEET

(4) &N

frefafgg & & gwEen ©omHia
IYTE 2

(1) &feqq o

(2) IGH 4

(3) B aifed .

4) T RF
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94. &S 3 e su=graaRi ¥ 78 &

95.

96.

(1) &t FareE™
(2) Igped @t
(3) VB Higerg

(4) T

W H AfET B HEY F B FAA
T8 TE 7

(1) %8 9  F= B -

(2) 75 foifawr @ Hfyar 2|

(3) F& U A A Ham 21

(4) F& AR F Faar 2|

W ¥ frE A @ d@dy ‘oremw &
78 & 7

(1) FH9=eH

2) Mia=e|

(3) @™
(4) F¥EH -
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(1) e @ st
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g &9 2
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(1) e
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qatgardt 78F & ?
foefs 9ge T
v (1) 7, q&4, FaT, T

) (@) o, B, SR, HeRad

(3) W fes #d &0 (3) SACHW, 3T, AT, FAATE |

(4) ﬁfﬁﬁ, mﬂlﬁ, qur, qrdve |

(4) F9T FHA G & FeAET
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be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/ Answer Sheet in the Attendance Sheet.
Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

Each candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No candidate, without special permission of the
Superintendent or Invigilator, should leave his/her seat.
The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.




	HTET 2014-15 Hindi pgt_Page_01
	HTET 2014-15 Hindi pgt_Page_02
	HTET 2014-15 Hindi pgt_Page_03
	HTET 2014-15 Hindi pgt_Page_04
	HTET 2014-15 Hindi pgt_Page_05
	HTET 2014-15 Hindi pgt_Page_06
	HTET 2014-15 Hindi pgt_Page_07
	HTET 2014-15 Hindi pgt_Page_08
	HTET 2014-15 Hindi pgt_Page_09
	HTET 2014-15 Hindi pgt_Page_10
	HTET 2014-15 Hindi pgt_Page_11
	HTET 2014-15 Hindi pgt_Page_12
	HTET 2014-15 Hindi pgt_Page_13
	HTET 2014-15 Hindi pgt_Page_14
	HTET 2014-15 Hindi pgt_Page_15
	HTET 2014-15 Hindi pgt_Page_16
	HTET 2014-15 Hindi pgt_Page_17
	HTET 2014-15 Hindi pgt_Page_18
	HTET 2014-15 Hindi pgt_Page_19
	HTET 2014-15 Hindi pgt_Page_20
	HTET 2014-15 Hindi pgt_Page_21
	HTET 2014-15 Hindi pgt_Page_22
	HTET 2014-15 Hindi pgt_Page_23
	HTET 2014-15 Hindi pgt_Page_24
	HTET 2014-15 Hindi pgt_Page_25
	HTET 2014-15 Hindi pgt_Page_26
	HTET 2014-15 Hindi pgt_Page_27
	HTET 2014-15 Hindi pgt_Page_28
	HTET 2014-15 Hindi pgt_Page_29
	HTET 2014-15 Hindi pgt_Page_30

